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RED SWASTE R SENOTL

RED SWASTIKA SCHOOL

2023 END OF YEAR EXAMINATION

MATHEMATICS
PAPER 1

Name ; { }

Class : Primary 5/

Date : 31 October 2023

BOOKLET A

15 Questions _
20 Marks '
Duration of Papar 1 (Booklets A & B): 1 hour

1. Do not open this Booklet until yYou are told to do so.

2. Read carefully the instructions given at the beginning
of sach part of the Bookist, o

3. Do not waste time. If a question is difficult for you,
go on to the next one. :

4. Check your answers thoroughly and make sure you
attempt every question. '

8. In this booklet, you should have the following:
(a) Page 1 to Page §
{b) Questions 11015

6. You are not aliowed to use a calculator,
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Questions 1 to 10 canry 1 mark each. Questions 11 to 15 carry 2 marks sach.
For each question, four options are given, One of them is the correct answer.
Make your choice (4, 2, 3 or 4). Shade the corect oval {1. 2, 3 or4) on the
Optical Answer Sheet. {20 marks)

1 30 000 + 4000 + 500 +6 =

(1) 34560
(2) 34508
(3) 34056
(4) 30456

2 What is the missing number in the number patiem below?

01, 13, 55 [ ?], 19

(1) 18
(2) 38
(3) 37
(4) 47

3 What fraction of the hearts are shaded?
VARV IRV
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2.1
Find the value of 3*3

(1)
(2)

&)
#

Find the value of 3 X

(1)
(2)
{3)
{4)

Express 2;—5 as a dacimal.

n
{2)
(3)
(4)

Round 3.785 to 2 decimal places.

)
(2)
{3)
(4)

“’13 Slg Slb’ é‘u

22 RBlo i sl

2.4
25
2.05

212

.70
3.78
3.78
3.80
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10

A machine takes 3 min 1o print 4 posters,
At the same rate, how long will it take to print 24 posters?

{1) 6min
{2} Bmin
{3) 12min
(4 18 min

in a basket, there are § pears, 20 apples and 10 mangaes. _
What is the ratio of the number of pears to the fotal number of apples
and mangoes in the basket?

{1y 1:2
(2) 1:4
(3) 1:5
(4) 1:8

The figure shows a right-angled triangle,

20 cm
Find the area of the triangle.
(1) 192 cm?
{2) 160 cm?
(3} 120cm?
(4) 9S6om?
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In the square grid, which of the following lines, when drawn, is parallel
to RS?

A,
B CR
h\“"“‘;-_,x
Dﬂ—
R =
'--..__MES
) AX
2y BX
(3) AR
(1) CR

At first, Ali was facing east. He then tumed 135° anti-Clockwise.
What direction did Ali face in the end?

(N
(2)
)
(4)

N
North-East

North-West
South-East
South-West

There are 240 adults and 80 children at a concert.
What percentage of the peaple st the concertt ars children?

m
{2)
&)
{4)

20%
25%
60%
80%
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The figure shows a rectangular glass box partly filled with unit cubes.
How many additional cubes are neaded {0 fill the glass box completely?

(1} 14
{2) 19
(3 77
4) 98

Amy has twice as many $20 notes as $50 notes in a box. The total
value of the money in the box is $6300. How many $20 notes are there
i the box?

(1) 140
(2) 180
3 210
4y 315
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RED SWASTIKA SCHOOL
2023 END OF YEAR EXAMINATION
MATHEMATICS
PAPER 1
Name : _ —— , {
Class : Primary 5/
Date :231 October 2023
BOOKLET B
15 Questions
25 Marks
In this booklet, you should have the following:;
(2) Page 8 to Page 12
(b} Questions 1610 30
MARKS .
OBTAINED | POSSIBLE
BOOKLETA | 20
BOOKLET B 25
TOTAL | : 45

Parent's Signature : __
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Questions 16 to 20 camy 1 mark each. Write your answers in the spaces
provided. For questions which require units, give your answers in the units

stated. {5 marks)

18  Round 67 483 to the nearest hundred.

17 Find the value of 400 x 17

Ans:

18 Whatisthe value of 40 - (3 + 13) + 4 x 22
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19 Wiite down ali ths common multiples of & and 8 that are smaller than 70.

20 Find the value of % X 4

Ans:
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Questions 21 fo 30 cany 2 marks each. Show your workings clearly in the
space provided for each question and write your answers in the spaces
provided, For questions which require units, give your answers in the units
siated.

(20 marks)

21 Mdm Siti bad 1.03 £ of il at first. She used 850 mt of it.
How many litres of oil was left?

Ans: .t

22  The length of Ribbon A is 9 cm. The length of Ribbon B is 5 ¢m longer
than Ribbon A, Find the ratio of the lengih of Ribbon B to the length of
Ribbon A.

Ans:
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23 In the figure below, ABCD is a rectangle. £BYX = 56°. Find L BXY.

A X_ B

56°

Ans:

24  The figure shows squares A, B and C.

A B Cc

Name the square(s) with a line of symmetlry.

Ans:




25

The sum of 4 numbers is 880. One of the numbers is 65,
What is the average of the other 3 numbers?

Ans:

A store rewards customers with 6 points for every $50 spent. Mrs Tan

spent $240 at the store. What is the total number of points Mrs Tan
receives from the store?

10
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27  There are 600 people at a concerl. 45% of the people are children,
30% of the people are women and the rest are men. How many men

are there?

Ans:

28  The table shows the number of cups of bubble tea each person bought at

a Charity Fair.
Nurnber of cups of bubble tea 1 » 3
each person bought _
Numbar of people 40 20 15

How much money was collected if each cup of bubble tea was sold at

$8 per cup?

Ans: $

11
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29

g of students in a class wear spectacles. % of those who wear spectacies

are giris. 15 girls wear spectacies. Moce than half of the students are gitis.
What is the smallest possible number of girls who do nol wear
spectacles?

Ans:

30

in ihe figure, ABCD Is a rectangle. CE is twice of ED. The area of the
shaded parts is 120 cm?. Find the area of triangle DEF.

_ 18 cm -

A G B

' F 3
12 em

F A

i _.. “ A Y

D E C
Ans: . - cmé

END OF PAPER

12 4
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RED SWASTIKA SCHOOL
2023 END OF YEAR EXAMINATION

MATHEMATICS
PAPER 2

Name : { )

Class : Primary 5/
Date : 31 October 2023

17 Questions

55 Marks

Duration of Paper 2: 1 hour 30 minutes

Note: |
1. Do not open this Bookiet until you are told to do so.
2. Read carefully the instructions given at the beginning

of each part of the Booklet.
3. Do not waste time. if a question is difficuit for you,
go on to the next cne.
4. Check your answers thoraughly and make sure you
attempt every question.
5. In this paper, you should have the following:
{a) Page 1 to Page 13
{b) Quastions 1 to 17
6. You are allowed to use a calculator,
MARKS , . _
OBTAINED POSSIBLE
PAPER1 48
PAPER 2 : 55
TOTAL 100 -
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Questions 1 to 5 carry 2 marks each. Show your workings clearly in the space below
each question and write your answers in the spaces provided. For Questions which
reguire units, give your answers in the unilts stated.

{10 marks)

1 Use all the digits 3, 5, 9, 0 to form
ay 1he smallest 4-digit odd number,

Ans: (a)

b) ihe number closest to 5000.

Ans: (b)

2 Lena bought 1.4 kg of tomatoes. How much did she pay?

éﬂ ¢ peridlg

Ans: §
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3 in the figure, BCDE is a thombus. AB is a straight line. ZAED = 128°,

Find ZBCD.
B

128°

Ans;

73 books to James.

4 Min Yi had iwice as many bocks as James. She gave
books did

After that, Min Yi had 154 books more than James. How many
Min Yi have at first?
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Ahmad has two sticks, A and B. The length of A Is 12 om longer than the
length of B.

A

|

i A b o v

[+)]

|

12cm

% of A and% of B are painted black.
What is the total length of sticks A and B?

Ans; om




For Questions 8 to 17, show your workings clearly in the space below each quastion
and write your answers in the spaces provided. The number of marks avaliable is
shown In brackets [ ] at the end of each question or part-question.

(45 marks)

The table shows the rate of charges for each overdue book borrowed from
a library.

For the first 5 days 30¢ per day
After the 5th day 80¢ per day

Li Wei borrowed a book from the library which was overdue when he
returned it. He paid a total of $6.30 for the overdue book. How many days
was it overdue?

Ans: 31

The ratio of Ali's age to his father’s age is 1 1 4 now. In 5 years’ ime, their
total age will be 70. How old is Ali now’?

Ans: 13

BP-~668



B8 Mr Tan paid $151.20 for an equat number of pens ard highlighters,
Each pen cost $1.20. Each highlighter cost $1.80 more than apen.
How many pens did he buy?
Ans: 13}
9 in the diagram, UVW is a triangle. VYX and UYZ are straight lines.

UY =YZ . VZ = ZW and WX is twice of XU.
What is the area of the shaded part WXYZ?

Ans: ___ - (3]

BP~669
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[1]
5.
(2]

rimeter of
ng 3 more line

Wi

imes the pe

RS. Complete rectangle ABCD by dra

Completa square PQRS by drawing 3 more lines.
The perimeter of rectangle ABCD is threet

square PQY

The sguare grid shows the side PQ of square PQRS and side AB of

rectangle ABCD.
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11 In the figure, ABCD is a rectangular piece of paper. it is folded as shown
below. ZHJE = 67° and ZFEG = 46°,

y
— H
67°
z

D C D 4
a) Find Ly.

Ans; (a) {2]
b)) Find Lz

Ans: {b) . 7. _[2]
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42 The graphs shows the total number of cards machines A and B printed from
the start. Both machines started printing at the same time. Both machines
did not change their rates of printing throughout,

A B
2P T 0 r
Total m L Total
number 150 R rumber 160
of cards 120 ofcapds .4
printed o i printed
from the : frormthe 8o
stant 80 wtarl
a0 i a0
0 < & < e 3 L T
0 2 4 s 8 10 0 5 10 1S 20 15 30
Tima in minites Tirna In minules

a) Howmany more cards did machine A print than machine 8 in
10 mimies?

Ans: (3) 4]

b) How iong will it take for both machines to print 2760 cards together?

Ans: (b) ) {3)
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13 Joyce received a weekly allowance of $50 from her mother, Atthe end of the
week, she saved up the amount that she did not spend. The bar graph below

shows her weekly savings.

25 -

20

15 _A,'.',

~ Amount of savings {$)

10 - - :
s T e, :
- .- e a v “m oA e - . * = om

dhice med b Lwwp

(@) In which week did she sperxt the most?

Ans: {a) Week

Week 1 Week 2 Week 3 Week 4

(1

{b) Find her average weeldy spending.

Ans: (b)

[3]
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14

Yi Xin received the same number of coins from her mother every day for
60 days. Each coin was eithera 10¢ ora 50¢ coin. Vi Xin gave her younger
sister two 50¢ coins every 5 days. The total number of coins Yi Xin had left
after 60 days was 216 and the total value of these coins was $06.

a) How many coins did Yi Xin receive from her mother each day?

Ans: (a)__ 12)

(by How many of the coins Yi Xin had left after 60 days were 60¢ coins?

Ans; (b) [2]

10
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15

There were 100 red beads, 40 green beads and 70 blue boads in 2 box.

(a) Dinah wanted to use some beads to make 2 bracelet.
If % of the beads in the bracelet were red, *} of the remainder were
green and 12 beads were blue, how many beads would she need to

make the bracelst?

Ans; (a} . [2]

{b}  Using the ariginal nuinber of baads in the box, if Dinah wantad to make
bracelets of a different pattem using 15 red beads, 5 green beads and
12 blue beads for each bracelet, how many of such bracelets can she
make at most?

Ans: {b)____ _ . 21

11 , 4
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16 At ABC Bakery, doughnuts are sold at $1.50 each. it is having the following
promotion now.

SPECTAL OFFER!

For every 6 doughnuts, get 5% discount,

For every 10 doughnuts, get 8% discount
plus 1 FREE doughnut.

(a) Mrs Chan bought 6 doughnuts. How much did she pay?

Ans: {a) (2]

(b) MrLimwanted to get 35 doughnuts. What was the least amount that
he needed to pay for them?

Ans: {b) (3]

12
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7 A container measuring 25 ¢ by 20 cm by48em was% -filled with water al

first. After Daniel poured some water into the container, the height of the
water in the container became 20 om as shown below.

48 cm

— . | 20 em

. b
.,,__-_;,/mm
25 em

(a) How much water did Daniel pour into the container?

Ans: {a} i

(b) Daniel used several identical bottles to fill the container with water to
the brim. The capacity of each bottle was 0.5 £. How many of such
identical bottles is needed to fill the container with water to the brim?

Ans: {b) B)

END OF PAPER

13
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SCHOOL

LEVEL PRIMARY 5
SUBJECT : MATH
TERM : SA2 2023

RED SWASTIKA SCHOOL

Q17) 17 X400=17 X 4 X 100
= 68 X 100 = 6800
Q18) 32
Q19) 24 and 48
Q20) 8/9
Q21) 1.03L = 1030mi
1030 — 650 = 380
380ml = 0.38L
Q22) 9+5=14
B : A
14 : 9
Q23) 90+56=146
180 ~ 146 = 34°
Q3d) A

Pg1
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Q25)

680 — 65 =615
615+ 3 =205

Q26)

240 + 50 = 4R40
4x6=24

Q27)

45+30=75
100-75=25
600/1 x 25/1 = 150

Q28)

2x20=40
3x15=45

4x5=20

40 + 45 +40 + 20 = 145
145 x 6 = $870

Q29)

3u=15
ju=5
5x8=40
40+2=20

. 20+1=21

21-15=6

Q30)

Y. x 61 x 1211 =36
1% x 18/1 x 1211 = 108
108 + 36 = 144
144 - 120 = 24

24 +2=12cm2

Pg2
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Qaggmgaiu.)%m.g%&)wﬁoﬂgeggﬁ
length of B.

Al -
8 . 20 |

12cm
3 otAand} of B are painted black
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a Horary,
[For the first 5 days 308 per day 180

[Afer tha th day Wiperdsy | 1Y

mé&gmg?aﬁaﬁgiﬁﬁa%ai.sg
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1"

5»:n:m§!>wnﬂﬁuﬁniau§!£§a§ﬂ. it is fotoed s shown
helow. 2 HIE =67° and £ FEG = 467

g} Find £y

b) Find Lz

(20~ B —GTz ik _x,\
Ans: (b} xnr\-nu

12

The gragha shows the tolat razmber of cards machines A an B printed from
the siart. Bothy machines started printing Bt the same time. Both machines
did not changs their rates of priating throughaut.

0 % W 5 W TFM
Tina in minvkes

a} How many more cardy cid maching A pint than machine B [n

10 minutes?
Hdl...ﬂi..n) %iﬁnﬂd\
A\
% A0
Ans: (3), 1° s
7z

bj  How long witl it take for both machines o print 2780 cards together?

il 23

tn tmio Artboa A ,,.Y
A5

Ana: (b)___\2P mia \\\ e
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% Thare were 100 red beads, 40 gteen beads and 70 blus beade in a box

(2}

0

Dinah wanted lo use some beads to make a bracalel.

i1 3 of the beads inthe bracelet were red, } of s rerainer were
grean and 12 beads wara biue, how marty beads woukd she need o
rnake he bracelet?

E WL )
. .W u ﬁ fa= ,Jruu..mw
fed = =4
e Gy o ¥

Ao .vw.u,\

Ang: (@) mp.\ﬁ ri}

Using the ariginal number of besds in the box, ¥ Qingh wanted o make
bracelats of a different patiarn using Aggrmggi
12 plug baads for ench hracelel, how mary of stich bracelets can sha

make o mosl? R & B
oS b mm...m..o - RS

\

5
Ana: (b} \\\E

11 4

18

ALARC Bakery, doughmsts 2re sold st $1.50 sach. It ia having the foliowing
promotion o,

SPECIAL QFFER |
S .@,w, For every 6 doughnuts, get 8% discount.’
@ For every 10 doughnutt, get 8% discount

plus 1 FREE dooghrut,

{sa) MrsChan bought B douthnuts. How much did sha pay?

FrER-TL

% .rw,.,ﬁ#..%ﬂ\

Ans: (2) §%.55 < |

pd

{2} MrLimwanied to get 35 doughinuts. YWhet was the jeaat aemount that
s neecied Yo pay for them?

o i
a5z phaonmen i

ox 1LG2\E
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Ans: (b)
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